29105 EANEIRE L LATAYHERT | 2558 20 SR SRR BR R

7= miiEA

e, A

kB8 DIN EN 10305 MY E , TEMW 1.4301 #l,
E18 3 , REEEMH,
WEIBEZ 24T |, AR, REl.

BN

FiEEBE , B8,

BEEKL

KRR , TEWNAE | 2 MRk | HiTiE | F5,
M -

- BIEH 29120 , 29125 , 29130 , 29135

- EMEEANRES

THEER :

LT REFRIZ B A R N B A M B 3

R R - —Ce | I TR

AT
29105-18...
A 1
H
7.5 75 | | L1
-l ; e s
29105-300001X300 woBsh A& | 30 Tr 14x3 300 100 |30| 8h8 38|26 100 28 2x2x20 M4x8
29105-300001X500 B A | 30 Tr 14x3 500 300 |30| 8h8 38|26 100 28 2x2x20 M4x8
29105-300001X800 wEsh & | 30 Tr 14x3 800 600 30| 8h8 38|26 100 |28 2x2x20 M4x8
29105-400001X300 ’ﬁf?‘ﬁa‘ﬁ]?ﬂlﬁ 40 Tr 20x4 300 91 |40| 12h8 55|38| 104,5 |44 4x4x32 M6x10
29105-400001X500 B AR | 40 Tr 20x4 500 291 |40| 12h8 55|38| 104,5 |44 4x4x32 M6x10
29105-400001X800 BB | 40 Tr 20x4 800 591 |40| 12h8 55|38| 104,5 |44 4x4x32 M6x10
29105-400001X1000 B A | 40 Tr 20x4 1000 791 40| 12h8 55|38| 104,5 |44 4x4x32 M6x10
29105-500001X500 B A | 50 Tr 20x4 500 265 |50| 12h8 63|38| 117,5 |44 4x4x32 M6x10
29105-500001X800 B & | 50 Tr 20x4 800 565 |50| 12h8 63|38| 117,5 |44 4x4x32 M6x10

© norelem www.norelem.com



29105 BLENHIME L A TRV HEAT |

78 3 T 7 B R B

29105-500001X1000 WIBBh A | 50 Tr 20x4 1000 765 |50| 12h8 63|38| 117,5 (44 4x4x32 M6x10
29105-180101X300 HORRER | 18 Tr 10x2 300 14518 6h9 24|17| 775 |18 2x2x12 M3x5
29105-180101X500 HORBREAA | 18 Tr 10x2 500 345|18| 6h9 24|17 775 |18 2x2x12 M3x5
29105-300101X300 HIRRHA | 30 Tr 14x3 300 100 |30 8h8 38|26| 100 |28 2x2x20 M4x8
29105-300101X500 HORERHAA | 30 Tr 14x3 500 300 |30| 8h8 38|26| 100 |28 2x2x20 M4x8
29105-300101X800 HIRRHA | 30 Tr 14x3 800 600 30| 8h8 38|26 100 |28 2x2x20 M4x8
29105-400101X300 HORIREIR | 40 Tr 20x4 300 91 |40| 12h8 55|38| 104,5 |44 4x4x32 M6x10
29105-400101X500 HORBREAA | 40 Tr 20x4 500 291 |40| 12h8 55|38| 104,5 (44 4x4x32 M6x10
29105-400101X800 HIRRHA | 40 Tr 20x4 800 591 (40| 12h8 55|38| 104,5 (44 4x4x32 M6x10
29105-400101X1000 HORBRER | 40 Tr 20x4 1000 791 |40| 12h8 55|38| 1045 |44 4x4x32 M6x10
29105-500101X500 HRKHA | 50 Tr 20x4 500 265|50| 12h8 63|38| 117,5 |44 4x4x32 M6x10
29105-500101X800 HORKHIR | 50 Tr 20x4 800 565 |50 12h8 63|38| 117,5 |44 4x4x32 M6x10
29105-500101X1000 HIRBREAA | 50 Tr 20x4 1000 765 |50| 12h8 63|38| 117,56 |44 4x4x32 M6x10

© norelem www.norelem.com




